Chapter Two: Exercise questions:

Question (1): The Stem-and-Leaf display below contains data on the number of months between the date a civil suit is filed and when the case is actually adjudicated for 50 cases heard in superior court. 
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1. locate the first leaf, i.e., the lowest valued leaf with the lowest valued stem.  This represents a wait of ________ months.

2. the civil suit with the longest wait between when the suit was filed and when it was adjudicated had a wait of ________ months.

3. the civil suit with the fourth shortest waiting time between when the suit was filed and when it was adjudicated had a wait of ________ months.

4. ________ percent of the cases were adjudicated within the first 2 years.

5. ________ percent of the cases were not adjudicated within the first 4 years.

6. if a frequency distribution with equal sized classes was made from this data, and the first class was "10 but less than 20," the frequency of that class would be ________.

7. if a frequency distribution with equal sized classes was made from this data, and the first class was "10 but less than 20," the relative frequency of the third class would be ________.

8. , if a frequency distribution with equal sized classes was made from this data, and the first class was "10 but less than 20," the cumulative percentage of the second class would be ________.

Question (2): The frequency distribution below represents the rents of 250 randomly selected federally subsidized apartments in Minneapolis.

Rent in $
Frequency
300 but less than 400  
113

400 but less than 500  
85

500 but less than 600  
32

600 but less than 700  
16

700 but less than 800  
4

1. ________ apartments rented for at least $400 but less than $600.

2. ________ percent of the apartments rented for no less than $600.

3. ________ percent of the apartments rented for at least $500.

4. the class midpoint of the second class is ________.

5. the relative frequency of the second class is ________.

6. the percentage of apartments renting for less than $600 is ________.

Question (3): The histogram below represents scores achieved by 200 job applicants on a personality profile.
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1. ________ percent of the job applicants scored between 10 and 20.

2. ________ percent of the job applicants scored below 50.

3. the number of job applicants who scored between 30 and below 60 is _______.

4. the number of job applicants who scored 50 or above is _______.

5. 90% of the job applicants scored above or equal to ________.

6. half of the job applicants scored below ________.

7. _______ percent of the applicants scored below 20 or at least 50.

Question (4): The table below contains the opinions of a sample of 200 people broken down by gender about the latest congressional plan to eliminate anti-trust exemptions for professional baseball.


   For  
Neutral
Against
Totals
Female
38
54
12
104

Male

12
36
48
  96
Totals
50
90
60
200

1. construct a table of row percentages. 

2. construct a table of column percentages. 

3. construct a table of total percentages. 

4. of those for the plan in the sample, ________ percent were females.

5. of those neutral in the sample, ________ percent were males.

6. of the males in the sample, ________ percent were for the plan.

7. of the females in the sample, ________ percent were against the plan.

8. of the females in the sample, ________ percent were either neutral or against the plan.

9. ________ percent of the 200 were females who were against the plan.

10. ________ percent of the 200 were males who were neutral.

11. ________ percent of the 200 were females who were either neutral or against the plan.

12. _______ percent of the 200 were males who were not against the plan.

13. _______ percent of the 200 were not neutral.

14. _______ percent of the 200 were against the plan.

15. ________ percent of the 200 were males.

16. if the sample is a good representation of the population, we can expect _______ percent of the population will be for the plan

17. if the sample is a good representation of the population, we can expect _______ percent of the population will be males.

18. if the sample is a good representation of the population, we can expect _______ percent of those for the plan in the population will be males.

19. if the sample is a good representation of the population, we can expect _______ percent of the males in the population will be against the plan.

20. if the sample is a good representation of the population, we can expect _______ percent of the females in the population will not be against the plan.

